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Time : 3 hours 	 Maximum Marks : 100 

(Weightage : 70%) 

Note : This question paper consists of three Sections A, B 

and C. Attempt the questions as per instructions 

given in each section. 

SECTION A 
(Long Answer Questions) 

Attempt any two questions from this section. 	2x20=40 

1. Distinguish between the human development 

and human resources approaches to the social 

sector. Discuss how the social sector is treated in 

the Indian national income accounts. 

2. What are different kinds of consolidated accounts 

of a nation ? Discuss consolidated accounts of 

India. 
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3. Distinguish between market and non-market 

services. Describe how the services sector 

contribution to GDP is measured in India. 

4. What do you mean by economic welfare ? In what 

ways do the changes in size, composition and 

distribution of GDP affect economic welfare ? 

Discuss. 
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SECTION B 

(Medium Answer Questions) 

Attempt any four questions from this section. 	4x12=48 

5. Why do we distinguish between national wealth 
and national capital ? Point out the significance 
of national capital for an economy. 

6. Explain the concept of environmental accounting. 
How do you measure environmentally corrected 

GDP? 

7. What is investment ? How do you measure 
investment ? Differentiate between gross and net 

investments. 

8. What is the importance of savings in the national 
economy ? How is the rate of savings 
determined ? Discuss the sectoral distribution of 
savings and point out which sector contributes 
the largest share to savings in India. 

9. State the main parts of the National Accounts 
Statistics published by the Central Statistical 

Organisation. 

10. Distinguish between Foreign Direct Investment 
(FDI) and Portfolio Investment (PI). Which one is 
more desirable for a nation's economic growth ? 

11. What is the problem of double counting ? 
Illustrate with examples. Does it arise in income 
method as well ? How do you avoid it ? 

EEC-010 
	

3 	 P.T.O. 



SECTION C 

(Short Answer Questions) 

12. Distinguish between any three of the 
following : 	 3x4=12 

(a) Intermediate Goods and Final Goods 

(b) Stock Variables and Flow Variables 

(c) Current Transfer and Capital Transfer 

(d) Balance of Payments and Balance of Trade 
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